KENSAL 40 Flat Top Slimline Wood KENSAL

M6 x 20 HEX HEAD

M6 NUT
M6 x 10 WASHE

M12 x 6 HEX LOCK NU M6 x 10 WASHER
M12 NUT 7 M6 x 8 HEX HEAD
g

RF-KEN40SLW Mo x 15 HEX HEAD PR8920-2




KENSAL 40 Flat Top Slimline Wood - Parts List

KENSAL

Balloon Part Number Description Drawing Weight Offered as
(Kg) spare part
01 SM14 6" FLUE COLLAR MEC7005 1.5 v
02 SM13 6" FLUE BLANKING PLATE MEC7004 1.25 v
03 SM15 SECONDARY AIR COVER ME7027 0.012 v
04 SM24SL FIRE BRICK CE7022 v
05 DATA PLATE MOUNT ME500717 0.08
06 SM62 LOG RETAINER CASTING CA7111 2.6 v
07 KEN4025 DROP IN FRONT CA7299 1.2 v
08 4953 CB CASTING SEAL 10x2 SA ROPE - 1500mm CE7484 0.03 v
09 K8.27 CLEAN BURN AIR DUCT CASTING CA7250 11.0 v
10 SM18 HINGE BLOCK STUD FA7000 0.03 v
11 SM10 HINGE BLOCK MEC7001 0.06 v
12 RF.20 HINGE PIN @6x50LG HINGE-PIN 6x50 0.01 v
13 KEN40DR 2 DOOR ASSY. MEC7763 17.5 v
14 SM19 M6 x 70 COACHBOLT MO0670CBLT 0.02 v
15 SM2.30 SECONARY AIR CONTROL ASSY MEC7049 1.0 v
16 4953 AIR WASH DUCT SEAL 10x2 SA ROPE - 1200mm CE7483 0.02 v
17 SM2.11 SECONDARY AIR DUCT ASSEMBLY MEC7051 3.0 v
18 SM12 SECONDARY AIR DEFLECTOR RA7157 2.4 v
19 SM26SL BAFFLE RA7234 3.9 v
20 BODY FABRICATION MEC8599 52




